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Which statement is true?

1,315 > 2,317

1,315 < 2,317

1,315 > 2,315

mhgz,%mmwh

nearest ten thousand?
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The first night of a play 3, 546

The second night 2, 862 tickets B0 2,862 oy o3 L TG A
How many more tickets were sold F2 61 T
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6 is 2 times as much as 3 3
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2 is 3 times as much as 6 | =
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3 is 6 times as much as 2 2 el J'.
al 6

3 is 2 times as much as 6 ?‘3
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45 is 7 times as much as 9 9 itz 7 45
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48 is 8 times as much as 7 ? Gilaal 8 48
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Which number is a multiple of 97 i SRl

21
36
44 -
56
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| What are the next three numbers

in the pattern?
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20,13,6
20,14,8




4 x200 =

4% 20 x 100

o ¥ (o0 ~ |k
4x4x100

0 > S CT oo
4x2x100 6

U X W <UD
2x2x100
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Use the Distributive Property to find iy L Sy il Al g

the product.

7 x12

(7+10)+(7+2)=26

(7 x m)@gﬁ) =84

(7 +10) x (7 +2) = 153
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b) Write the number 41, 986 L Aty 41,986
in word form.
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The indoor water park had 5,331
visitors in January and 2, 702
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pencils as Hassan.

a) How many pencils does Ali have?
Draw a bar diagram and write an
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Afaf is organizing 36 books in S A A s 36 il IS
She wants the same number of Mhpil”ll'i_d,;&ub
books on each shelf and can use ids3 o
up to 3 shelves.

| a) What are three different ways Adliaall EOAN Gkl A b (2

g S i3 O gy (A

she can arrange her books?
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b) An amphitheater has 5 seats
in the floor rows.
Each stair row has two more

seats on each end than the

previous row.

How many seats are in the stair

row indicated?
Complete the table below.
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